
®

6 ELEMENT - 11 METER
SWITCHABLE POLARITY

V5/8

MACO Antennas, A Division of Charles Electronics, LLC
302 S. East Street, Mt. Carroll, IL 61053
Copyright © 2009 Charles Electronics LLC • All Rights Reserved

www.macoantennas.net
(815) 244-3500



PACKING LIST  
 

MACO ALPHA V58 
 

PART       QTY O.D.       SIZE LENGTH DESCRIPTION CHECKLIST 
 
T47P  4 5/8”       .047” 36” Aluminum Tubing   _   
T43P  1 7/8”         .047” 48” Aluminum Tubing   _ 
T18P  1 3/4"       .047” 48” Aluminum Tubing   _ 
T15P  1 5/8”       .047” 48” Aluminum Tubing   _ 
T01  5 1/2"       .047” 72” Aluminum Tubing   _ 
BA1P  1              Base Assembly   _ 
R01P  2  3/8”       .035” 17 7/8” Hoop Rings   _ 
 

HARDWARE BAG 
R03P  1    1-hole Cast Aluminum Spider           _ 
P08P  1 5 ½”   Bracket  w/SO239 and wire  _  
R02P  1 ½”x1/8”x 7 ¾” Aluminum Strap    _ 
C01  1 3/8”    Stainless Steel Clamp   _ 
W58  9 5/8”    Extruded Aluminum Clamp  _ 
W34  1 ¾”    Extruded Aluminum Clamp  _ 
W78  1 7/8”    Extruded Alum. Clamp (hose clamp) _ 
C13P  1 1.845”   Clamp Ring     _ 
W10P  2    Stainless Steel Hose Clamp  _ 
S21  16 10-24 ½”   Machine Screws (2 extra included) _ 
S23  1 3/8”-16 x 1”  Hex Bolt     _ 
S24  1 5/16” x 1”  Hex Bolt     _ 
N11  16 10-24   Square Nuts (2 extra included)  _ 
N01  1 5/16”   Hex Nut     _ 
N26  5 #10    Flat Washers (1 extra included)  _ 
N12  5 #10    Lock Washers (1 extra included) _ 
N19  1 3/8”    Hex Nut     _  
PL2  5 .437”    Plastic Cap – Black   _ 
N20  1 3/8”    Lock Washer    _ 
   

1    Instruction Sheet    _ 
  1    warranty sheet    _ 
  1    Safety sheet     _ 
  
Please note:  In an effort to keep the price on MaCo Antennas down, we have decided not to clean up all the burrs and rough 
edges on the parts.  We recommend that you deburr and clean up each part with files, sandpaper, etc. so that they go together 
easily.  We are aware this needs to be done but have elected not to do it to save you the money we would have to add to the price 
of the kit for this service.                   
       
Revised 04/08                                                 
        











Installing and rigging towers, masts and antennas require specialized skills and experience. Information
supplied by MACO assumes that all products will be installed by personnel having these skills and have installed
similar products before. No one should attempt to install towers or masts without these knowledgeable skills.

MACO assumes no liability if faulty or dangerous installation practices are used. There are available, trained
and experienced personnel to assist in installation, maintenance, or dissassembly. Contact your local installer if
consultation or assistance is required.
All tower and antenna installations should be throughly inspected at least twice a year by qualified,
experienced, and trained personnel to insure proper performance and safety standards.

An additional warning precaution is given to be careful of surrounding high voltage power wires and other
electrical hazards duing installtion of your tower, rotor, or antenna.

MACO Antennas is a Division of Charles Electronics, LLC

www.macoantennas.net
(815) 244-3500

Do not erect a tower, rotor, or antenna during an electrical
 storm, rainstorm, or when lightning is a possibility.


	V58_Facing
	ALPHAV58_packing
	ZSafetyWarning



